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Homework #3: Determining phase diagram of Ge-Si

1. Idea to determine phase-diagram of Ge-Si

Jacobian matrix (J(X))

o= | NI
= Xoow = X = JTHX)*F(X)

B/C: MINELC} 2Fotd x = MIN + epsilon
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MAXELC} Z|™H x = MAX - epsilone 2 X4

2|E X={x, x}of &4

B/C: fabs(x_s_new - x_s)<epsilon &&
fabs(x_|_new - x_l)<epsilon
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Homework #3: Determining phase diagram of Ge-Si

2. Programmed code

* Description of Program
1. Info. of Program

f] E2M 'AMSE417 HW4' (1 Z2HEE)
4 [%] AMSE417_HW4
o 222 T
4 g 2A DY
>+ AMSE417 _HW4_Gauss-Jordan{HW3).c
++ AMSEA17_HW4 Inverse_matriz(HW3).c
++ AMSEA17 HW4 main.c

++ AMSE417 HW4 Defalut.c
++ AMSE417 HW4_Non-linear_eq.c
b 2 9 =M

T O o
4 o] o ob
[ B Eil'lﬂ."l::'|::'r|.h

[
b
B
b4+ AMSE417_HW4_Newton's mtd{HW2).c
B
B

2. Characteristics of Program

- A7 2 7t

- 5| gl 7I- 7|'— el kel

- :’7|11|UF %12 (malloc 0|&)

- It E JE 4 (fprintf 0|8

o
3. Process of main()

#tdefine
#include<stdio.h>
#tinclude<stdlib.h>
#tinclude<time.h>
#tinclude"Gilwoon.h"

main()
{clock_t time_start = 0;
clock_t time_end = 9;
exe_time = 0;
MIN given = 0;
MAX_given 9;

FILE *file;
file = fopen("Info.txt", "w");
(file 9)
{printf("No file.");
=L Jj

Program_explanation(file);
Program_info(file);

time_start = clock();
Phase _diagram_data(file);

time_end = clock();

printf("Data is saved in ""Info.txt.""\nCheck the file.\n");
exe_time = ( )(time_end - time_start) / 5
fprintf(file, "\nexecusion time: %.4f sec\n", exe time);
fprintf(file,

fclose(file);
0;}
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Homework #3: Determining phase diagram of Ge-Si

2. Programmed code

4. Header

#ifndef _ GILWOON_H__
#tdefine

Program_explanation(FILE *file);
Program_info(FILE *file);

Phase_diagram_data(FILE *file);
£ 1( T, X_S, x_1);
f 2( T, X_S, x_1);
G_Si( T);
G_Ge( T);

Inverse_given_matrix( **Matrix_given, row_max, col_max);

Normalization( **Matrix_given, **Inverse_matrix, row_max, col_max);

Pivoting( **Matrix_given, **Inverse_matrix, row_max, col_max);
Lower( **Matrix_given, **Inverse_matrix, row_max, col_max);
Upper( **Matrix_given, **Inverse_matrix, row_max, col_max);

Newton_mtd( MIN, _ x_1, turn, T, FILE *file);

#tendif
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Homework #3: Determining phase diagram of Ge-Si

2. Programmed code

5. AMSE417_HW4_Non-linear_eq.c

#define
#define 0.00001
#define 8.314
50208.00 - 29.7617*T;
#include<stdio.h>
#tinclude<stdlib.h>
#include<math.h>
#include"Gilwoon.h"

Phase_diagram data(FILE * ) L 36944.72 - 30.4975%*T;
T min = 36944.72 / 30.4975; 2

T_max = 50208.00 / 29.7617;

T 5

X_

X_

0; _ s )
5H

*T*log(x_1) - G_Si(T);
fprintf( , "Temp, Turn, x_s, x_1\n");
fprintf(

T_min;
(T < T_max)
{ (T == T_min) = R*T*log(1 - ) - R*T*log(1l - ) - G_Ge(
{fprintf( , "%t ", T); ;
fprintf( , "BC ©.000000 0.000000\n");}
(T_max - <T)
{fprintf( , "%t K, ", T_max);
fprintf( , "BC 1.000000 1.000000\n");}

{x s = (T - T_min) / (T_max - T_min) +

x 1= (T - T min) / (T_max - T_min) -
fprintf( , "t o, ", T);

Newton_mtd(@, 1, x_s, x_1, @, T, )5}
T 4= (T_max - T_min) / 50;}}
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Homework #3: Determining phase diagram of Ge-Si

2. Programmed code

6. AMSE417_HW4_Newton's mtd(HW2).c

#tdefine

#define 0.0000001 J[o][e] = R*T / 5
#define R 8.314 J[@][1] = -R*T / 5

J[1][e] = -R*T / (1 - )
#include<stdio.h> J[1][1] = R*T / (1 - )3
#include<stdlib.h>
#include<math.h> Inverse_given_matrix(J, row_max, col max);

#include"Gilwoon.h"

X_s_new = - (3[e][e] * f_1(T, s ) + J[e][1] * £_2(T, s ))s
Newton_mtd( s s s s ) X_1_new = - (3[1][e] * f_1(T, s ) + J[1][1] * £_2(T7, s ))s
, FILE * )
{ X_S_hew = 0; ((fabs(x_s_new - )< && fabs(x_1 new - )< ) |
Xx_1 new = 9; >499)
Wl = 5 {fprintf( , "%d %.6f %.6f\n", , X_s new, x_ 1 new);}
row_max = 2;
col max = 2; { ¢ >= X_S_new)
i {Newton_mtd( , , + , X 1 new, ++ , T, )5}
row; ¢ >= x_1 new)
col; {Newton_mtd( , , X_S_new, + , ++ , T, )5}
D ¢ <= X_S_hew)
{Newton_mtd( , , - , X 1 new, ++ y Ty )5}
i=0; ¢ <= x_1 new)
J = ( **Imalloc( ( *)*row_max) ; {Newton_mtd( , , X_S_new, - , ++ , Ty )5}
(i<row_max)
{I[i++] = ( *Imalloc( ¢ )*col max);} {Newton_mtd( , , X_S new, X_1 new, ++ , T, )51}
( >= )
{ = W ! i=o;
¢ >= ) (i < row_max)
{ = + ) {free(J[i++]);}
¢ <= ) free(J);
{ = - 5}
( <= )
{ = - 5}
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Homework #3: Determining phase diagram of Ge-Si

3. Result & Conclusion

1. A5l 42

ER CWindowsWsystern32Womd.exe

Data is saved in Info.txt.
WCheck the file.
H=E=FO ol 7|0t

#define epsilon 0.00001

(T - T_min) / (T_max - T_min) + epsilon;
(T - T_min) / (T_max - T_min) - epsilon;

Newton_mtd(@, 1, x_s, x_1, o, T,

T += (T_max - T_min) / 50;}}

Program: Determining phase diagram of Ge-Si

Date: 2015.03.30
Made by Gilwoon Lee

POSTECH, project 4 of [AMSE417] Numerical analysis for materials
Development environment: Visual Studio 2013

Code language: C

1220.913567 23 0.037455 0.009550
1230.425543 25 0.073547 0.019484
1239.937519 25 0.108347 0.029805
1249.449496 26 0.141924 0.040516
1258.961472 27 0.174343 0.051622
1268.473448 27 0.205664 0.063126
1277.985425 27 0.235942 0.075032
1287.497401 28 0.265231 0.087343
1297.009377 28 0.293580 0.100062
1306.521354 28 0.321036 0.113192
1316.033330 29 0.347641 0.126737
1325.545306 24 0.373439 0.140699
1335.057283 24 0.398466 0.155082
1344.569259 24 0.422760 0.169887
1354.081235 24 0.446355 0.185118
1363.593212 23 0.469284 0.200778
1373.105188 23 0.491576 0.216867
1382.617164 23 0.513261 0.233390
1392.129140 23 0.534367 0.250348
1401.641117 22 0.554918 0.267744
1411.153093 22 0.574940 0.285578
1420.665069 22 0.594454 0.303854
1430.177046 21 0.613484 0.322573
1439.689022 21 0.632050 0.341737
1449.200998 21 0.650172 0.361348
1458.712975 22 0.667867 0.381407
1468.224951 23 0.685154 0.401916
1477.736927 23 0.702049 0.422875
1487.248904 23 0.718568 0.444288
1496.760880 24 0.734727 0.466154
1506.272856 24 0.750540 0.488474
1515.784833 24 0.766019 0.511251
1525.296809 24 0.781179 0.534485
1534.808785 25 0.796032 0.558177
1544.320762 25 0.810589 0.582327

1553.832738 25 0.824862 0.606937
1563.344714 25 0.838861 0.632007
1572.856691 25 0.852596 0.657539
1582.368667 26 0.866078 0.683531
1591.880643 26 0.879315 0.709986
1601.392620 26 0.892317 0.736903
1610.904596 26 0.905091 0.764282
1620.416572 26 0.917646 0.792125
1629.928549 26 0.929989 0.820431
1639.440525 26 0.942128 0.849200
1648.952501 26 0.954071 0.878433
1658.464478 27 0.965823 0.908130
1667.976454 30 0.977391 0.938290
1677.488430 28 0.988781 0.968913
1687.000407 BC 1.000000 1.000000

execusion time: 0.0150 sec
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Homework #3: Determining phase diagram of Ge-Si

3. Result & Conclusion

2. 71} Plotting

T (K Phase diagram of Ge-Si = A

(K) 7t 42 Altts 5ol @& data
1.80E+03

1.70E+03 A4t 2y 048l Zrol ALl L3

S}, liquidus line2| 73 mole
O fractiono| 7| 42 k7t 7ol
A Blofihg &RlIsiglct,

1.50E+03
1.40E+03 i 0.00001
1.30F+03 . - T min) / (T_max - T_min) +

' - T_min) / (T_max - T_min) -
1.20E+03

0.00 0.20 0.40 0.60 0.80 1.00
X_Si (Unitless)
x_Si, solid x_Si, liquid e X Si, solid (get) ¢ % Si, liquid (get)

POSTE2LCH



Homework #3: Determining phase diagram of Ge-Si

3. Result & Conclusion

o
2. 43} Plotting
T (K) Phase diagram of Ge-Si T vs Turn
1.80E+03 35
1.70E+03 30 .
o”'.”. soscscee ‘
1.60E+03 25 o0 00000
° ono.”..” .”.-on
1.50E+03 20 L)
1.40E+03 15
1.30E+03 10
1.20E+03
0.00 0.20 0.40 0.60 0.80 1.00 °
X_Si (Unitless) 0
x_Si, solid x_Si, liquid & x_Si,solid (get) & x_Si, liquid (get) 1200 1300 1400 1500 1600 1700
= S| A 2 = lo| 740 = H}FO
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Homework #3: Determining phase diagram of Ge-Si

3. Result & Conclusion

@
3. 7|t HE}
0.00001 - =
Z7| 2o g T4 24.795925|, HFTA}
T min) / (T_max —mi ; 2 16005§O_| A -O—H: Temp, Turnm, ®x_s, w=_|
T_min) / (T_max - - 5 ) | | - r = r' 1211.401890 BC 0.000000 O.000000
1220, 913567 500 -0, 028578 0. 028578
1230, 425543 500 -0, 056715 -0, 056715
1239937519 500 -0.084420 -0, 034420
s e T
27| 4= d2 WO E & 32 D o] 00| & izeymes o o ieowe 0150
T mi T G| A = 7 L 71O Tlo|gkE A OO 1287 497401 500 -0, 216804 -0, 216804
fﬂi% ; ET_E); O-I %\l_l_7|_ }—J—|_E| |_ /ZI = E_Il- L= T J\Allxl-lxl:l_ 1297, 009377 500 -0.242116 -0, 242116
- - 1306, 521354 500 -0, 267060 -0, 267050
1316, 033330 500 -0.291642 -0, 291642
1325, 545306 500 -0.315872 -0, 315372
1335, 057283 500 -0,330757 -0, 339757
o v E T
0.00001 - - . -0, -
z,,l:% ZEI' —_'._-)\|'U|"—|' %‘ﬂ' 32. 22449E| —i— Z|‘ 1363593212 500 -0.409411 -0, 409417
2.3827975|of| LA THCF
oS A TARSILF B 26551028, BAH}

2.1800353|0f| LA} ST}
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1. Homework #3: Determining answer and A

3. Conclusion

* Problem answer
F0{%l BHTA] datag ©[-85t0q phase diagrams O|Z 42t HILSHA| plotting & 4 /3120, B4
L T 24795925, HE3T=| 2,16005%| Brof| LAGHICT

* 27| 3ol T2 4 bl

1) HhE Zl4o 7£E|i Sla7t vlAE[gietn A7sigle o, &F £ H2 linearstH| Sl= A10l|4 +- epsilon
7t J4A ol 7FAF A LER 7i0 2 of| 25191 11, T 7}Z| case % heckUH Bl m B2 Ao g o=
LI}

2) Zfo| ME e 742 determinantE 022 Tr50{ ZARp7t 2 LEQ Z| OfQIT H|LGHA| determinant

7} 00| E|= CI2 caseE 92 74O 7AW} L@ | OkS 7{o 2 AZFEIC)

3 9Jolo DAl 32 UL UHE A ol Eoht, T4t 23 of BoklE A4S HRUSIAD, 2 Lol
g4 2| BRHAtE 2.x HEO| 2 RAIBHE %S Yolsiict
®
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